RGNS =B R T AT A B R | - {

bl
1 "k_,’.:_:.ig 2 5 T i INE o e Bl <7
FREAE 20 HF X AT * ZE 2R AT =10 T N TP B = |
—EE (RRFE S50
When a fizm advertises the superior virtues of its brand
compared to other brands, it is trying to
A. reduce the cross elasticity of demand. T
B. increase tine cross elasticity of demand. #;e
C. reduce the income eslasticity of demand. ' /651—
D. increase the income elasticity of demand. o
R
Supposs A CONSUNEr CORSUMESs LWa gowds, steak and ,w:;:‘
potatces, and, in eguilibrium, is observed to censune jii]
twice as many potateoes as steaks. We can conclude that \ oo
A. the marginal utility of steak is twice that of : ?f
potatoes. \j'r
B. the marginal utilisy of steak is half that of L
potatoes.
¢&. the ratie ot the marginal utility of steakx aivided

by its price is twice that of the eqguivalent ratlo
for poctatans, :

D. the ratioc of the marginal utility of steak divided
by its price is half thaz ¢f the cquivalent ratio
for potatoes.

E. None of the ahove.

guppose a risky investment has a &0 percent chance of
being profitable with a profit rate of 15 peIcent and a
40 percent chance of earning nothing. If government
bonds are yielding 7 perxcent, econemic profit on the
investment would Dbe

A. O percent.
B. 2 percent.
C. 7 percent.
D. 9 percent.

a perfectly cempetitive firr in short-run equilibrium

will earn *

A. profits at the normal rate if it chooses the opbtimal
level of cutput to produce.

B. =zero profits.

¢. losses whencver the marginal cost is greater than
the average total cost.

D. profits if P=MC.

E. either profits or losses depending on its costs and
the market price.

A common problem with the regulation of natural

monopolies is that btechnological change often creaates

new competition by gesnerating products that compete with

the menepoly product. Tha existence of these alternative :
products implies that a mopopoly no langer exists, so '

the ratienale for regulation no leonger exists. To

determine if this is the case, the besk evidence would

e

L. a comparison of the demand elasticities of the
mroducts.

3. a comparison of the supply elasticities of Lhe
producsts.

. =«he cross-elasticity of demand far the preoducts.

O. <=he income slastizity of demand for the products.
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6 Suppese a perfectly competitive market has the following
* market demand and market supply schedules:

uantity Demanded Price Quantity Supplied
52
54
56
8
$10
$1z2
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The perfectly competitive firms in the market are all
purchased by a single, price discriminating monopolist
who charges $10 and $8. Caonsunler surplus in the
monopclized market would decrease by

A. 0.
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